3+4-Methylphenols
Response Ratio

Amount Ratio

Resp Ratio = 1.07e+000 * Amt + 4.79e-001
Coef of Det (r™2) = 0.993 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF032519_.M
Calibration Table Last Updated: Tue Mar 26 03:32:08 2019




2-Fluorobiphenyl

Response Ratio

11

10—

Amount Ratio

Resp Ratio = 1.01e+000 * Amt + 1.13e+000
Coef of Det (r"2) = 0.997 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF032519_.M
Calibration Table Last Updated: Tue Mar 26 03:32:08 2019




